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Questions
(There are 4 questions, 10 points in total.)

It is given that
n∑

j=1

j = n(n+1)
2 .

{an} is a sequence such that an = 3n + 1, where n ≥ 1.
{bn} is a sequence such that bn = bn−1 + bn−2, where b1 = −1 and b2 = 0

1. What are the first five terms of {an}? (1 point)

2. What are the values of b6, b7, and b8? (3 points)

3. Calculate the summation
20∑
i=1

ai = a1 + a2 + · · · + a20. Your final answer should

be a single integer. (3 points)

1



4. Calculate the following infinite summation:

42 + 41 + 40 +
1

41
+

1

42
+

1

43
+ · · ·+ 1

4n
+ · · · .

Your final answer should be either a single number or the summation of two numbers.
(3 points)
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